
General Knowledge Online Test

Sr Questions Answers Choice

1 Which of the following statement is correct?

A. Port of san Antonio is seaport of
chile
B. Acu is the seaport of Brazil
C. Port of Tianjin is the seaport of
china&nbsp;
D. all of the above

2
In the early 1993s, which landlocked country,whose economic growth has traditionally been
hindered by a lack of ocean ports,signed an agreement with peru to have access to the port
of llo?

A. Bolivia
B. Colombia
C. Brazil
D. Chile

3 Lying at the northern end of the Adriatic Sea, a present-day city was once the leading
seaport of medieval Europe and  the continent's link to Asia.Name this city.

A. Venice
B. Paris
C. Rome
D. Liverpool

4 Where is the seaport of Almeria?
A. SE Apain
B. SW Spain&nbsp;
C. NE Spain
D. NW Spain

5 Where is the seaport of Aalborg?
A. Finland
B. Iceland
C. Norway
D. Denmark

6 In which country penang seaport is present?
A. Malaysia
B. India
C. Pakistan
D. South Africa

7 In which country Oslo seaport is present?
A. South Africa
B. Norway
C. South America
D. West India

8 In which country Cardiff seaport is present?
A. UK
B. UAE
C. USA
D. Pakistan

9 In which country Bombay seaport is present?
A. Pakistan
B. India
C. Iran
D. China

10 In which country Bin Qasim seaport is present?
A. India
B. Pakistan
C. Iran
D. Iraq


